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First, we let r take on a value less than r_c.
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We see that in this case, the positive steady state is stable.

Now we look at r > r_c.
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Here we see that the system is not attracted to the positive steady state.  To see what
the final behaviour is, we omit the transients from the plot.
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We see that the system has a stable two-cycle.  So the bifurcation at r=r_c is a 
period-doubling bifurcation.

We now plot the bifurcation diagram.
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Here we see the bifurcation plot, showing a period-doubling bifurcation near the 
critical value r=r_c.


